R | B ?, BB 2

B
4
e

I

NEc - 4FHc

UE b S LR S
(a) kst z=x+yi o H9 x, y FRED i=4-1
(b) = &3 z=r(cosf +ising) = rcis@

X =r cosé 0= arctani
z X

(c) AHi% { .
y=rsiné

r = X2+y2

A B A E Y

(a) z *z,=(a+bi)x(c+di)=(axc)+(bxd)i

(b)  zz, =(a+bi)x(c+di)=(ac-hd) + (ad + bc)i

(c)  zyz, =r1,CisO, x1,Cish, = r,r,cis(6; +06,)
zi_a+bi_a+b| c—di _ac+bd bc-ad.

(d) o c T 2t 2|

z, c+di c+d| c-di c*+d? c?+d

i_rmsﬁ _r_ is(6, - 6,)

z, 1,086, 1,

R E R w PEF R IpMEY

(a) w:—1+£| ) #=-2-3 . =

2 2

(b) af+a)+1—0

# 3% 2 (de Moivre) T It

(a) z" =(rcis@)" =r"cis(nb)

(b)  ¥z=¥rciso :x/?cis(ngnan) »#3¢ k=012..,n-1

w
W
|
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5. A Bhs e il

(a)
(b)
(c)
(D)
(e)

(f)

% z=a+b B z=a-bi
zz=|2" =|7"
z+z2=2Re(2) » z—z2=2iIm(2)

6. AF Bl

(a)
(b)

(c)
(d)

¥ z=a+bi B |[4=+a’+b?
142|Re(2)] > |4z |Im(2)

|2, 2| =|z|lz,|
z|_lzl
z,| |z

2] -|z| <[z + z| < [z]+ 2]

Coly \ 9 | Figd% http//goooprimes.eus.org/



w

F#em s PERE 4k z=(M -D+(M*-4m+3)i 2 *m#kc-

Z-1= m=-11
4{ m"-1=0 %{ L B~ m=-1-

m? -4m+3z0 mz13
C1-43
F* ﬁ EE ©
1-/3i _ @-v3)W3+i)  _ J3-3i+i+3
ﬁ - 3+1 - 4
= —2\/5_2 = ﬁ_li o
16 8 8

F AJ8+6i hiE o
L (8+6))=(a+hi)? H*¥¢ ab =idF#-

EBts®E a’-b*=8- 2ab=6 -
a
9
2 _
a _? = 8
a*-8a*-9 = 0

a’=9 & a’*=-1 (¥3)
T a=+3 ¥R b=+l t ab=2 Fah' ab FEEF -

Coly \ 9 | Figd% http//goooprimes.eus.org/



_-1+43 1 s

. "W 2 T 3 r2atea
F1 w3 l+x+x*=0 598> 7 @’=1 2 l+w+w’=0-
s 1 .1
3+2(-l-w) +w 3-2-2c+a
_ 1 _ 1
1-a 1_—1+\/§i
2
) 2 ) 2(3+4/30)
3-43i (3—+/3)(3++/3)
_ 6+2V3 - 1+ﬁi .
9+3 2 6

5. X x=% v X2 +4x+23 hiE o

£ 3x+2 = 1
Ox? +12x+4 = -1
Ox? +12x +5 = 0
Ox? +12x = -5
700 X2 +4X+23 = %(9x2+12x)+23 = —§+23
= % o
3

6. % z=-1+3 - & iz ol & foRs e

) 1 /3. 2n . . 2n
E oz = 2(—=+—i = 2(cos——+isin—-
¥ 350 (0053 3)
, n,..n
i = cos— +isin—
2 2
, 2n  n mn
iz higd = -t = °
H 32 6
iz e = 2
¥ Rt = (A-2i)(3+4i) = 3-6i+4i+8 = 11-2i -

Coly \ 9 | Figd% http//goooprimes.eus.org/



8. #F¥# ab s xX+ax’+bx+8=0 ¢H ¢ - HBE 1-i > £ a+b

HiE o

¥ OFAl-i R & 1+ kR R
T FR 7 FN [X-@+iD)][x-(1+i)] = X?=2x+2
X3 e ok BB T 4

x*+ax? +bx+8 = (X* = 2x+2)(x+4)
= X3+2X2_6X+8
110 az2b=-6 T atbz=2-6=-4 -

.k (2e .

2
£ R = (cos120° +sin120°)*° = c0s1200° +sin1200°
= cos120° +sin120° = - % + g [

10, fagg 4 |4+2=3-i -

B4 |4 sRdk it z=asic

d R

a’+l+a = 3

a’+1 = (3-a)?

a® +1 = 9-6a+a’
6a = 8
. _ 4

3

BTl Z=——] o

Fofl |\ 209 ) 029K htto//aoodprimes.eus.org/




ol

1. ¢ A dk z=(2+1)m* =31+ )m-2(1-i) » 2 ¢ m L F# KT AR
T oo NiE
(a) z »7# (b) z 3¥miEk (c) z=33+12
2. ¥ z,=1+2, z,=3-4i, z,=-5+6i » £T |k XeniE
(a)  z7,+7,z (b  —+— (©  z'+(z)°
2 7

3. £z o#d z i
(a) 8+6i (b) -15-8i (c) 5-12

4. Wi T s = A5
(a) 1+4/3 (b) 2-2 (c) —di

5. R T AlAFHCE SRS
(a)  2cis(45°) (b)  4cis(150°) (¢)  +/3cis(300°)

6. £ @-0)° i o
[ EF @+ A- T Fdco FRIFE D k) B e
8.  ® Z=(1+2)*(-3-4)° & |z #iE -

9. c ik z=(@a+3)+(2a+Di > HY a prPE K |4 hol @

10, HAFAHE X y AL Xy +y =00 & ()04 (L) i .

X+y X+y
(% &5 1990)
11. FT 7> figﬁgﬁ_? Wfﬁ’i’f‘l .
(a) X2 =2x+4=0 (b) (x+2)(x+3)(x+5) =2x4%6

12 ¢ 242 X -4 +11x* -14x+10=0 - {35 a+bi @ ¥ - 133
a+2bi - #°¢ ab ZF#o R

Foh | g ? g Bt Mttp://aoooipVimeslevﬁlom/




\'/‘.I:

-nu\‘
4\.4

. z=(@+)m?-31+i)m-2(1-i) -
¥ z=(2m* -3m-2) + (m* —3m+ 2)i
(a) z 29%& T m2—3m+2-(m—1)(m—2)=0
AR iR m=1 g °
2m°-3m-2=0
{m -3m+2#0
(2m+)(m-2)=0
(m-DH(m- 2);t0

|
-1, {m e

(b)) z 2%

(© z=33+12i »

(m-5(m+2)=0

{(m -5(2m+7)=0

Fofl |\ 209 ) 029K htto//aoodprimes.eus.org/




(a)

(b)

(c)

(a)

(b)

(c)

22,%72,7

1 1
o+

S
z; +(2,)°

(1+2i)(3+4i)+(3-4i)(-5-6i)
3+4i+6i-8-15-18 +20i — 24
- 44 +12i
1 1
.+—.
1+21 3-4i
1 1-2i 1 3+ 4
X + X
1+21 1-2i 3-4i 3+4i

1-2 3+4 _ 5-10i 3+4
5 25 25 25

8_5;

25 25

(-5+6i)% + (3+4i)?
25-60i —36+9+ 24i -16
-18-36i

£ (a+hi)*=8+6i » T a’-b*>+2abi=8+6i » ¢ abdR-

{a -b*=8
A
A

¥R b=+l >&EL 3+ & -3-i

-15-8 > T a®-b?+2abi =-15-8i >

) a2—1—§=—15 a’ +15a”-16=0 -
a
-16 (¥3)

L b=F4 > & iE s 1-4 & -1+4i -

=5-12i > * a’-b*+2abi=5-12i » # ¢ abOR-

B

» 7 a’-—-=55a*-5a’-36=0 -

a’=-4 (£4)
a=+#3 ¥R b=F2 > &fiE i 3-2 & -3+2 -

Fofl |\ 209 ) 029K htto//aoodprimes.eus.org/



4. (a)

(b)

(c)

(a)

(b)

(c)

L-i)®

-4

2cis(45°)

4cis(150°)

J3cis(300°)

A J§| 13
\/1 +3

= J2(cos60° +i sin60°)
2-2i

vl R

R f
ARG

= 2/2(cos315° +i sin315°)
= 4(cos270° +isin 270°)

= 2(cos45° +isin45°)
- V2+42
= 4(cos150° +isin150°)

= -2J3+2i

\/5(005300" +isin300°)

\/_10

(2) (\/— \/—)

32(cosz+isin7—n)10
4 4

32(00535777 +isin 3'5—77)

-32i

Coly \ 9 | Figd% http//goooprimes.eus.org/
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g5 X200 #7121+ w+a’ =0 >
( X )1990+( y )1990

X+y X+y
1 011990
= +
(1 + w)1990 (1 + w)1990
1+ (411990
= W+ &’

T =1
X
X+ aX
1+
(1+ w)1990

X
X+ aX

1990 + 1990

—3980

-1990
w

+w

-1

Coly \ 9 | Figd% http//goooprimes.eus.org/

7. @+i)" - W2 cosl+isny = 22(cos™+isn
4 4 4 4
ERBR L P E T sn% = 0% n=4k > H¥ k 5
4
EB n=4 % (1+i)* = 22(cosr+isinm = -4
&P n=8, T (1+i)° - (~4)2 - 16
ee::%? f:/i\ n=8 -
8. iz = (@+2)*(-3-4)° = @+ 20)[* x|(-3- 4i)|"
= (V1 +22)* x[{(-3)* + (-4)*]°
- 52 x 5° - 5 = 78125
9.  z=(a+3)+(2a+l)i
4 = J@+3?+(2a+)? =  Jal+6a+9+da’+da+l
= 5a° +10a+10 = J5(a+1)?+5
=3 W SN
10. 4 y=ax - Bl X*Q+w+aw’)=0"

10



I1.

12.

(2 (Y2744 2x4-12

2() 2
= 1+\/§i o
(b) % x=1 227 - 425
(X+D(x+3)(x+5)
x® +9x% +23x+15-48
x® +9x* +23x—-33
(x—1)(x* +10x + 33)
28 x=1-5+2J2 -

Il
o~
oo

Il Il
o O O

x* —4x® +11x* -14x +10 = 0
[x=(a+bi)][x—(a—hi)][x—(a+2bi)][x—(a-2bi)] = 0
[x* = (a—bi)x—(a+bi)x+ (a—bi)(a+bi)]
x[x2 = (a - 2bi)x — (a+ 2bi)x + (a— 2bi)(a+ 2bi)]
[X2 - 2ax+ (a2 + b2)] X[ X2 — 2ax + (2 + 4b?)] =0
x* —2ax® +(a® +4b%)x* - 2ax® + 4a°x* - 2ax(a’ +4b*)
+(a® +b?)x? - 2ax(a® +b?) + (a® +b?)(a® + 4b?)
x* —4ax® + (6a® +5b%)x* - 2a(2a’ + 5b%)x + (a® + b*)(a® + 4b?)

= 0
ek Bic (B A
-da=-4>7r a=1-
6a2+5p2 =11 % b2=1 b=21-
ATINE S AR L X=1xi 12 -

pe % 5 (19717-2004)

Fofl |\ 209 ) 029K htto//aoodprimes.eus.org/
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